
SAP ABAP table BAD_APPOINTMENT_MESS {Messaging Structure  APPOINTMENT}

BAD_APPOINTMENT_MESS

CLIENT [CLNT (3)]

TIMEZONE_FROM [CHAR (6)]

TIMEZONE_TO [CHAR (6)]

RULE_GUID [RAW (16)]

T000

MANDT [CLNT (3)]
 BAD_APPOINTMENT_MESS-CLIENT = T000-MANDT 

0..N

1

TIMERULEH

CLIENT [CLNT (3)]

RULE_ID [RAW (16)]

 BAD_APPOINTMENT_MESS-RULE_GUID = TIMERULEH-RULE_ID 
0..N

1

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 BAD_APPOINTMENT_MESS-TIMEZONE_FROM = TTZZ-TZONE 

0..N

1

 BAD_APPOINTMENT_MESS-TIMEZONE_TO = TTZZ-TZONE 

0..N

1


